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@)
(b)
(c)
(d)

HOME SCIENCE - II

T famm - 11

Give the sequence of stages of sugar
cookery in making brittle :

(a) Soft ball

(b)  Soft crack

(¢) Hard crack

(d) Two thread

(e) Firm ball

Code :

A) @) ®) © @ @

® (© @) @ 6@
© (@), @ @, b), ©
©) ©), @) @) ©) @

\-/\_/

The use of “Pectinase” in food processing
industries is to :

(A) improve colour

(B) clarify fruit juices

(C) enhance flavour

(D) preserve fruit products

Match the following fatty acids with their
sources :

Linoleic acid (i) Butter

Linolenic acid (ii) Linseed oil
Palmitoleic acid (iii) Peanut oil
Arachidic acid (iv) Soybean oil
Code :

@ () ( @
(A) () (@) @@ @
(B) (@) @ @) (@
© @ @) @ ()

D) @ @ @) @)

1.

(@)
(b)
(c)
(d)

132 S T IR UTF % TN &l FHAG
I :

(a) e afe

(b) Wi %Hw

() TIE HF

d) W

() Y Al

C T
@A) (a),
B (9,
© (@)

(D) (b), (C) (d

(A) ¥TH GUR TG

(B) RdT o THI @l HIF H 7q
(C) wreR # gfg & 7 :
(D) hel-uaml ! EiEd w ¥

Frefafaa aeia sl =61 7o @il § e
Cag
fodegs tfae ()  weEA
focit tfae (i) STl &1 9
qfeifees S (i) FTwel 1 del
Ifew CaE  (iv) TG 1 dat
%

@@ () () (d)
(A) @v) @) @ @
(B) (i) @ Gv) (i)
© @ (v) @ (i)
(D) @ @) @) ()
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Food is spoiled due to :

(@) The growth of micro-organisms in
the food.

(b) Theaction of enzymes that normally
occur in the food.

() Mechanical damage such as
bruising,.

(d) Damage from rodents and insects.
Code :

(A) (a), (b), (c) and (d) are correct.

(B) Only (a) and (b) are correct.

(C) Only (c) and (d) are correct.

(D) Only (a) is correct.

Assertion (A) :

Consumption of Lathyrus Sativus causes
Lathyrism, a crippling disease.

Reason (R) :

Lathyrus Sativus contains a water soluble
toxic alkaloid called BOAA which affects
the spinal cord and central nervous

system.
Code :

(A) (A) s true and (R) is false.
(B) Both (A) and (R) are true.
(C) (A) is false and (R) is true.
(D) Both (A) and (R) are false.

@ i 1 GUE B I HRUT T
() @ H gEA-Sfae! = fowm

(b) T H HHE: 30 TSIEH 1 T
(©) FfEm 9 i afema 309

(@) Fre-TeRiSl A IS @ @il
E TR

(A) (@), (b), () ¥R (d) W& |
(B) HAA (a) 3R (b) TR T
(C) ad (c) 3N (d) eI E |
(D) %9 (a) W& B

AR (A) :

grTE dfeag w1 Yad Ui, Th YR
1 shiafeT I Yer e )

hRUT (R) :

drsRg dfeaq § wi@ § yemia foume
Tehallss 2rar €, 58 BOAA %31 9l &, S
TR HIS qT Sheitd QAT T bl gHIfad
HE T

%<

(A) (A) 9 ® T (R) 319 B

(B) (A) T (R) S ¥F ¥ |

(C) (A) 3T T T (R) ¥ T

(D) (A) T (R) M1 319 €1
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“Gelatin” is produced on moist heat
cooking of meat from the following
protein :

(A) Mucin

(B) Elastin

(C) Collagen

(D) Myoglobin

The method of service where food is
displayed and the guests have to help
themselves is termed as :

(A) Banquet

(B) Buffet

(C) Counter Service

(D) Cafeteria Service

It is the condition which results, when
insufficient food is eaten over an extended
period of time :

(A) Over-nutrition

(B) Imbalance

(C) Specific deficiency

(D) Under-nutrition

Aetiological factors for obesity are :
(a) Food habit

(b) Sedentary life style

(c) Endocrine factor

(d) Helicobactor pyloric infection
Code :

(A) (a), (b), (c) and (d) are correct.
(B) (a), (b) and (c) are correct.

(C) (b), (c) and (d) are correct.
(D) (a), (c) and (d) are correct.

e 9 sTE-arg fafy ¥ gy, ¢ faifea””
=1 Wit Freafatad 9 9 &) o €

(A) =fad
(B) wemiEA
(C) wletsH
(D) TR

AT 1 TF T S| Ao A T g
gmﬁmﬁaﬁga@m@m%,wmﬁr
?

(A) FFe

B IH

(C) e Fal.

(D) IETIE Hell

T <9, SN U Tereqa stafy # ot i sE
ST T QIR B @

(A)  SAfq-droor
(B) 3T
(©) fafiree =pFar
(D) STE-99

ﬁzﬁ%gﬁaﬁaﬁww%
(a) oIS o H TR

() Fromdt sfam et

€) TemET St

(d) e TEelie HehHoT
e

(A) (@), (b), () 3 (d) w& T
(B) (@), (b) 3 () FA T
© (), () 3R (d) T T
(D) (a), (c) iR (d) ¥&
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10.

11.

Which of the following statements are not 10.

true for Vitamins ?

(@) They are inorganic substances.

(b) They are soluble in water and fat.
(c) They release energy on digestion.
(d) Their quantity increases on cooking.
Code :

(&) @), © @

B @) O) @

©) (@, (®), (©

(D) (b)) (d)

Examples of glucogenic amino acids are : 11.

(@) Alanine
(b) Arginine
(c) Glycine
(d) Lysine
Code :

(A) (a), (b), (d)
(B) (b), (c), (d)
© @, ®) (©
(D) (), () (D)

Tty % T3 i 9 A 98 78 22

(a) o TRMETH wEY B

(b) 9 UH T FE H AT B © |
() o U IUA FHell T H € |
(d) THM R AR A FG A 8 1

(A) (a), (o) (d)
(B) (a), (b), (d)
©) @, (), ©
(D) ®), (o) ()

© @ b ©
©) @ © @

SPACE FOR ROUGH WORK / 1% &Td & fo smg

0128/ TFU-HOMSC/ELG-II



12.

13.

14.

Assertion (A) :

Excessive weight is not only evident in
sedentary workers but also in some
Athletes.

Reason (R) :

Sedentary workers sit most of the time

leading to excessive weight gain, while
the athletes eat a lot resulting in excessive
weight gain.

Code :

‘(A) (A) False, (R) True

(B) Both (A) and (R) False
(C) Both (A) and (R) True
(D) (A) True, (R) False

The distinctive appearance of any
garment which makes it different from
others is :

(A) Style
(B) Design
(C) Fashion
(D) Drape

Principle of design does not include :
(A) Colour

(B) Rhythm

(C) Repeat

(D) Radiation

12.

13.

14.

AR (A) :

q Fad FSH HE FE AA G T
fiaenfedl & oft stferr s @ ST B

T (R) :

Yo HE HA AT ATHN T oS @ €
T € e 7! a9 wgd B

E TR

(A) (A) 39, (R) &
(B) G (A) ¥ (R) 15
(©) T (A) T (R) §A
(D) (A) ¥, (R) $THA

et oft weTa 1 GO Yehed S &l 4
AR A

(A) et

feaeT ¥ fram & = wftnfea T §7?
(A) T

® fa

€ fdr

(D) Yfewem
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L5.

Assertion (A) : | 15.

Synthetic detergents made from fatty
acids and alkalies.

Reason (R) :

The surfactants which break-up water
droplets into small units, which penetrate
into the fabric more easily and carries
away soil away from fabric.

Code :

(A) (A) is true, but (R) is false.
(B) (A) s false, but (R) is true.
(©) (A) and (R) are true.

(D) (A) and (R) are false.

Point out the uniqueness of fashion  16.

merchandising.

(@) Obsolescence Factor

(b) Mass Market

(c) | Sales Promotion

(d)‘ Faster Turnover

Code :

(A) (a), (c) and (d) are correct.
(B) (a), (b) and (c) are correct.
(C) (b), (c) and (d) are correct.

(D) (a), (b), (d) are correct.

AT (A) :

faafes saursianl = Wiz tfas aun Temalt
Q7 S T

&R (R) :

Gihae2, Wol % Jal ! Bl TREAl § faWe
LA S A § FHIS H T Fh HIS|
S Tt <l SRl o S R

HE :

(A) (A) 9, T (R) 3796 T
(B) (A) o8, WY (R) ¥4 ¢
(C) (A) T (R) ¥4 |

(D) (A) T (R) 3T9A T |

Sy TR 3 SRS 1 ST HIRT

(a) T T
(b) I Hhe
(c) 'ﬁ?\‘ilﬂ"ﬁ'ﬂq

@) R R

A) (a), (0 3R (@) T& &
(B) (a), (b) ¥R (c) W& &
© () (0 ¥ (@) T
(D) (), (b), (d) F& &1
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17. Notch is a symbol used for marking : 17.

(@) Seam Allowances
(b) Centre Lines
(c) Cutting Lines
(d) Sleeve Cap

- Code :
(A) (a), (b) and (c) are correct.
(B) (a), (c) and (d) are correct.
(C) (b), (c) and (d) are correct.
(D) (a), (b) and (d) are correct.

18. Gradation is the Rhythm that suggest a : 18.

(@) Gradual increase in shape

(b) Gradual decrease in shape

(c) Gradualincrease/decrease inshape
(d) None of the above

Code :

(A) (a), (b) and (c) are correct.

(B) (a), (b) and (d) are correct.

(C) (a), (c) and (d) are correct.

(D) (b), (c) and (d) are correct.

19. If the organic cotton fiber certification  19.

standards have been in practice for a
period less than 3 years the produce is
referred to as :

(A) Matured Cotton
(B) Bacillus Cotton
(C) Transition Cotton
(D) Egyption Cotton

W@W%WW:
(@) W Tl fog o g
() Y= fogt # & ¢
(c) e arw faga # & @
(d) wofta % fogt # ST @

G

(A) (), (b) 3 () WA &

B (@) () 3 (@) T T

©) () () IR (@) & T

(D) (a), (b) 3 (d) T &)

ﬁ@?ﬁ,ﬁ@%_@ﬁm%:
(2) W9 IgA IS
(b) W9 H Igere HH
(¢ 3 H Ige gfs/FH
(d) SR H B ot =
%

(A) (a), (b) 3 (c) T TV
(B) (a), (b) 3R (@) T T
©€) (a), (¢ 3R (d) w& £
(D) (b), (0) 3R (d) & T

fg Afiifes Hie HEeR THIUH AFH 3
§ 9 afy ¥ A oreRr | o TR,
IAe foRg A @ ST SR ?

(A) TS WA
(B) Wt Wi
(C) iR e
(D) 3w wied

SPACE FOR ROUGH WORK / % &/ &% fad sE
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20.

Fabric formed directly from fiber by this
technique :

(A) Weaving

(B) Knitting

(C) Knotting

(D) Felting

Assertion (A) :
Cotton is stronger when it is wet.
Reason (R) :

This is because it’s crysfalline fiber

arrangement.

Code :

(A) (A) and (R) are true.

(B) (A) is correct and (R) is incorrect.
(C) (A) is false, (R) is true.

(D) (A) and (R) are false.

Assertion (A) :

In Jacquard device each individual warp
yarn can be controlled individually
instead of in groups, as occurs with

harness.
Reason (R) :

This is limited to straight lines, edges,
steps or small circular lines.

Code :

(A) (A) and (R) are true.

(B) (A) is false and (R) is true.
(C) (A)is true and (R) is false.
(D) (A) and (R) are false.

20.

21.

22.

aﬁmaﬁzﬂamﬁww%?ﬁ
Y Fed © -

(A) fafsm e

B) ffT qerrn

(C) e awdte

(D) wfen

AHERAT (A)

HieT ofilt srareen ¥ weted e ¥
ST (R) :

fomama g 2

%<

(A) (A) T (R) < T ¥

(B) (A) W& T R (R) o B |
C) (A) 39 T, (R) 94 T
(D) (A) TN (R) 317 ¥

AHAT (A) :

SepenE feargg H Y SThall a1d I h,
7o B Frifa i &% o9 a9 9 fEifa
feran <man & St T gmE | St 81

/T (R) :
g Hreft Y@ell W, TR, wodl areren oy
TR Y@ # wifhd war g

%<

(A) (A) 1 (R) TF |

(B) (A) 3 ¥, (R) ¥ |

(C) (A) TF , (R) 319 T

(D) (A) 3R (R) 37 T
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23. Match the fabric given in List-I with their ~ 23.

weave given in List-II :

List-1 List-11
(a) Chiffon (i) Jacquard
(b) Denim (i) Plain weave

(c) Velvet (i) Twill weave
(d) Brocade (iv) Pile weave
Code :
@ ® © @
(A) @ @ @ )
(B) @) @) @) @
© @) @ @ )
(D) Gv) @) @ ()

24. Arrange the following fiber behaviour in ~ 24.

correct order for burning test :
(@) In flame

(b) Approaching flame
(c) Odour

(d) Removal from flame
() Residue

Code :

&) @) (© (@) ®)
(B) (), @ (d) () ()
© () ®) () (), @
(D) (®), (), (d), (@) (¢)

25. Main steps of Resource Management 25.

are .

Z

Four

=

Five
Six

Seven

A
g0

a1 § < = w1 gl H W 7
TR ¥ At HI

get-1 gE-11
() FrwE G) SemeTE
(b) SFm (M) @ IR
() d9Tr (i) T IR
) sHe (iv) UEA T
E TR

(@ () ( (4
(A) @) @6 @) @)
(B) @) (@) Gv) @)
© @@ @ G @)
(D) () @) @ ()

S o= & fau, 11 wgs SR 13
HH AR

(a) S H

() S e H

(c) TiH

(d) S HEH W

(e) CERL

e

(A) (@), () (e) (), (b)
(B) (b), @), (@), () ()
€ () () (@) (), (a)

(D) (®), (©) (), (@) (e)

T Ty % Y& TS -

(A) =W
B W=
) =

(D) W@

SPACE FOR ROUGH WORK / T% &rd & fo& -8
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26.

27,

28.

29.

Purpose of Resource Management is :
(A) Achieving family goals

(B) Excursion

(C) Purchase of goods

(D) None of these

Progress and prosperity of family
members is the aim of :

(A) Town planning department
(B) Municipal corporation

(C) Railway board

(D) Family Resource Management

“Home Management is using what you
have to get what you want.” Who said
this ?

(A) Kotzin

(B) Gross and Crandall

(C) Irene Oppenheim

(D) R.P. Devdas

“Home Management is the administrative
aspect of family living.” Whose definition
is this ?

(A) Nickell and Dorsey

(B) Gross and Crandall

(C) RP. Devdas

(D) None of these

26.

27.

28.

29.

HETYA Jor-e 1 &7 3 © ¢
(A) TiRETRe @1edi st it T
(B) ¥

(C) wHH Tl

(D) T 4 HE Tl

IER ¥ FE= &I Ifa @ wqfe e
A 52

(A) TR fEeE fawm

(B) TRuIfereRt fm

(C) eI

(D) WIfenisr HEEA o

‘g S WTe ST WTEd €, 39 U % ferg
e R 1 Ie fRen FwE E?

(A) wrEfs

(B) 7N TS shedd
(C) S SR
(D) SR, aH

118 yery TIRETes Siter =5k S YIMEcdsh
e €'’ - ug fohae! gty 272

(A) Tifere od =it
(B) UTH WH shed
(C) AR, TEH
(D) T & = @
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30.

31.

32.

Assertion (A) : 30.

The primary advantage of drawing up
time plan is that it enables people to
become aware of all problems in advance.

Reason (R) :

This exercise helps to overcome delays
and indecision later.

Code :

(A) (A) is correct, (R) is incorrect
(B) (A) is incorrect, (R) is correct
(C) Both (A) and (R) are correct
(D) Both (A) and (R) are incorrect

Who is the founder of Psychosocial 31.

theory ?

(A) Carl Jungs

(Bj Darwin

(C) Sigmund Freud
(D) Erick Erikson

The curriculum content of a non-formal 32.

education should be :
(A) Elementary

(B) Simple

(C) Flexible

(D) Consistent

ARVHST (A) -

g e R 6 mAfHE A 98
o <l w1 el T o uid e g ST
AR |

&HIT (R) :

Tz s R § faer ok sifofa g
T T TETE T2 |

EER

(A) (A) T T (R) T T §
(B) (A) W& 7, (R) W& ¢
©) (a) R (R) I T ¥
D) (A) 3 (R) A W& T T

Frefafied 3 9 TS fagia & giaue
HAT?

(A) el T
(B) e
() famig wEs
(D) 3R s

sriroaTies fRreror S wesEH ae =

(A) wiafuh
(B) ETHREI
(C) T
(D) st

SPACE FOR ROUGH WORK / T @i % o worg
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Match List - I with List - II : 33, eIt - 19 gEr - 1 e &1

Stage Age el £
Oral stage (i)  1year to 3 years (a) RCIRECEIS () 1ad 9399k
Anal stage (i) 3 yearsto 7 years (b) &g STeren () 3999 7aNaH
Phallic stage (i) 12 years to 20 (c) T 9um sFereen (i) 1299 9§ 20 99 o
years
Genital stage  (iv) Birth to 1 year (d) Sfsa sfoRen (iv) SR 1ad aw
Select the correct code : TE % H =TI Hife ¢
@ ® (© (@ @ () () (d
(A) @) @ @@ (@) (4) @ @ @@ @)
(B) @) @v) (@) @ (B) @@ @) @) @
© O @ @) @ © @ @) @Gv) @i
O) @) @ @ () D) ) @ @) (@)

Match List - I with List - IT :

Clay modelling (i)
Pre-basic (i)
education
International  (iii)

Women's day
Beneficiaries of (iv)
Supplementary
Nutrition in ICDS

M.K. Gandhi
6 months to 72
months children

Imagination and
creativity

8th March

Select the correct answer from the given

code :

@@ () ()
(iv) (i) (i)
B @ @ (i)
© @) @ @)
D) @ (@) ()

(A)

(d)
@
(iv)
(i)
(iv) ‘

34. eIt - 19 I - 1 & e

(@) a1 wfereqo () TH®. T
(b) Ta-wafis (i) 6WEE 72

- Teren I8 & Aeh
(0 IR (i) FHTN T

fag BERIREN)
(d) THIFHd A (iv) 8¥E

foer Ao |

ST AT o

fET T F2 | ¥ WE W BN GG HIC

@ () (o (4

(A) (v) @) @@ @

B @ @ @) @)

© @) @ @) @

(D) @ @) @G @)
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35.

36.

Which are the correct statements
regarding authoritarian parenting ?

(a) This type of parenting is rigid and
strict

(b) Punishment is more often in this
type of parenting

(c) “Because I Said So” is a parental
response to the child

(d) There is a give and take atmosphere

Select the correct answer using the codes

given below :

(A) (a), (b) and (c)
(B) (b), () and (d)
(©) () (9) and (d)
(D) (a), (b) and (d)

Following statements are related with
which of the
development :

(a)

stage of human

Maintaining economic standard of

living

(b) Adjustment with old people in the
family and making their life more
comfortable

(c) Undergo empty nest syndrome

Code :

(A) Early Adulthood

(B) Middle Adulthood

(C) Late Adulthood

(D) Adolescent Stage

35.

36.

g § § wyEel sifseshe & dey
HH-H FU HEH 8?2

(a) TH YHR 1 SR T& S 66
GRS

T TR & AfERe | 9 o[ T
2T o Yo o1 8

 pifer B e e Hren U
T F TR TR a1 e B |
(d) ST S 1 SR TEdl §

foret fag T e § ¥ WE T H A B

(b)

(©)

(A) (@, (b) T ()
(B) (b), () T (d)
© @ @@
(D) (a), (b) T (@)

Frfafea % AFa fawe &t g Tk

Q Heiftra 87

(@) URER & enfdE e L &
&

(b) IS % TE WS # I A
STHEEh S &M Tl

(c) fER # Erid Haa Empty ne
syndrome ({7t 7R fagm)

e

(A) e SR

(B) TeH Higrared

(C) W rgEe

(D) Teremreren

SPACE FOR ROUGH WORK / T% &M & ol e
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7.

Which of the following is non-probability
sampling ?

(A) Snow-ball sampling

(B) Quota sampling

(C) Purposive sampling

(D) All of the above

Which one of the following is an example

of an artificially discrete variable ?

(A) Number of children in a family

(B) Nationality

(C) Sex

(D) Examination results in terms of pass
and fail

If person is educated, which of the
following method should be used for
research ?

(A) Interview

(B) Survey

(©) Questionnaire

(D) Content Analysis

Mann-Whitney U-Test and Sign Test are :

(A) Both are non-parametric statistical
test

(B) Mann-Whitney U-test is parametric
and Sign Test is non-parametric
statistical test

(C) Sign test is parametric and
Mann-Whitney U-test is non-
parametric

(D) Both are parametric statistical test

37.

38.

39.

40.

- fFrafafea § S s vy ¥2

(A) i gfaest
(B) hieT Wit
(C) Wiy vfaed
(D) Wi |t

ST €9 G 37 =R HI e FAfataa
FIFe?

(A) URER T o= it gen

(®) Tt

(C) fam

(D) U9 a0 et ST | e gy

g SRern ffer ®, @ TG it 39 @
TGt SwE § o =iy ?

(A) WIEIEHR
(B) Ha&m
(C) Tt
(D) Siqae ey

AH-AEeH 9-90e0 F TR O ¢
(A) < 1T wifeet Tdier €1

| (B) HF-AEEH J-0&U YO TS Wi

W A= Fifeas! Ther B

(C) WM TR Y9 @ AH-ageHt J e
Y e T

(D) 3T wreret wiferent whem ¥
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41. Match the following : 41 ﬁmaﬁgﬁﬁﬁaﬁﬁq
" Column - A Column - B wWH- A wWH-B
(a) Galactose (i) Goitrogen (@) UGECE (@) RIECIEE]
(b) Oleic acid (i) Extra cellular (b) ol Te () RIS HEER RE
fluid - ‘
() Sodium (iiiy Dark green leafy () wifeaH (iii) T T ferRl W
vegetables-
(d) Thiocyanate (iv) Olive oil (d) e (iv) 3l o
(e) Vitamin-K (v) Monosaccharide (e) foafmA-K () HANHES
Code : % :
@ ® (© (@ () @ () () (@ ()
A O @ 3@ @ © A O @ @ @
® @) @ @O & O ® @ @ @O W O
© @ (v @ @O @ © (v Gv @ @O @
D) @) ¢ @ @ @ (D) @(v) v @ - @ @)
42. Match the following : 42. ﬁﬂﬁ'ﬁaﬁﬁw
Column - A Column - B wWY- A wWY-B
(a) Food frequency (i). Nutrition (a) “55&5 EACERl (@) el gEAAT
questionnaire Intervention AT
(b) Haemoglobin (i) Dietary (b) ErHmEnfsE () STRN ek
assessment
(c) Gomez (i) Height for age (0 TS iR (i) 3G <k AR
classification GEIH]
(d) Supplementary (iv) Health (d) ek Q0TS (iv) W TR
nutrition Intervention
(e) McLaren’s . (v) Weight for age. (e) Feheifid =1 v) 31 o Yelifsleh 9
classification Euicau
() Immunization (vi) Biochemical () wfrafirT (vi) & TEEFE
assessment W
Code : %<
@ ® © @ @ @ @ ® © @ @ 0
@ O @ @ @ © @ @ O @ @ @ © o
® @ @) O @ G ® @ ) © O @ @)
© @) @ ¢ o) 6 @ © @) ™ v @) O
D) @ &) @) () @ ) O () &) ) () @) G

SPACE FOR ROUGH WORK / T &Td & ford s
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43,

Assertion (A) : 43.

Carbohydrates are the major source of
energy for muscular work.

Reason (R) :

During muscular contraction, glycogen is
broken down to lactic acid through
glycolysis.

Code :

(A) (A) is true, but (R) is false.
(B) (A) is false, but (R) is true.
(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

Give the sequential order of the symptoms 44,

of Vitamin-A deficiency :
(a) Night blindness
(b) Corneal xerosis
(c) Xerophthalmia
(d) Bitot's spot .

(e) Keratomalacia
Code :

(A) (@), (b), (c), (d), (e)
(B) (@), (9), (d), (b), (e)
(©  (b), (0), (d), (e), (@)
(D) (@, (d), (), (b), (a)

AR (A) :

et fT FETEE e el w1 T
g

T (R) :

it §Fa H TARHISH, TARHEAT &
BN Afeeen 31t o yRafdd Bren §1

e _

(A) (A)§E T, T (R) 318 ¢
(B) (A) 39A §, W (R) TF ¢!
(C) (A) T (R) 3Fi 9 )

(D) (A) T (R) S o7 T

foreifia - A &t = & A& A SRS
HH I IS :

(a) T e

(b) HitEa SAfEw
(¢) SRferEr

(d) e e

(e) hHTIEN

(&) (@, (b), () (d), (e)
B) (@), (), (d), (), (e)
(©) (b), (9, (d). (e), (a)
(D) (©), (d), (), (b), (a)

SPACE FOR ROUGH WORK / T% & & & wig
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45.

46.

Arrange the following fatty acid in 45.

sequence with increasing degree of

unsaturation :
(a) Linoleic acid

(b) a-Linolenic acid

(c) Oleic acid

(d) Eicorapentanoic acid

(e) Arachidonic acid

(f) Docosahexaenoic acid
Code :

(A) @ ®) (@),
(B) (b), (o) (d)
© (© @, b),
(D) (@), (&) ()

d), (e), (B

), () (@)
e), (d), (B
)

a), (b), ()

—_

e

/'\/\,\

Give a correct sequence of a purchasing  46.

procedure used in a food service unit :
(@) Selection of source

(b) Placing order

(c) Writing specification

(d) Maintaining record

(e) Recognition of needs

(f) Requiring the market price
(g) Checking Invoice

Code :

(&) (@), b), ©, @) E) ©) (&)
(B) (b), (@) (d), (@) (&) (&) (e)
© (@ © © @ ©®) (8 ()
(D) (d), (), @) (g), &) b). (&)

—~ o~

frfafan Hfe T w TEW SRl %
95d Y H SHEfed ST :

(a) foriss T

(b) o-ferehfr TEE
(c) oireiren TEie

(d) HerEE TS
(€) STHICH YIS

(f) SRS THE

(A) (@), (b), () (@), (o) ()
(B) (b), (9, (@), (o), () (a)
© () (@), () (&) (@, ()
(D) (), (), ) @), ®) ()

we Wi g § % Frm & Wl egEa

(a) ¥ H T

(b) H W T

() T fererm foram

d) T&E @

e)  STATIRA hl TEAH FHLA
(f) TSR HIHA h STALHRM
() FIAH ¥ FTA

(A) (@), ®) ©, (@), ) O @
®) (), (), (d) @, &) (&) ()
© (e © @ @ ®) (&) @D
D) (@), (). @) (g), (). (), (€)

SPACE FOR ROUGH WORK / T @& & Tl sg
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47.

48.

Arrange the following reaction in the
correct order in which it occurs in Citric
Acid Cycle :

(a) Succinate

(b) Citrate

(c) Fumarate

(d) Isocitrate

(e) Oxyglutarate

(f)  Succinyl Co-A

Code :

(4) @, (), () (), (&), @

(B) (), (d), (&), (B, (a), (c)

©  ©) @), (@), b)) 6

D) (d), ®) () @), @), ()

Arrange the following in the correct order
in which it occurs in Urea Cycle :

(a) Carbamyl phosphate
(b) Arginine

(c) Citrulline

(d) Arginine succinate
() Ammonia

(f) Urea

Code :

(A) (@) (©), (e), (), (b), (B)
(B)  (©) (b), (), (B), (e), ()
© (@ @), () (@), ®), @
(D) (b), (d), (), (&), (©), (a)

. Tafew o = o =1 gfafshan &1 37

IMa % T HA § Hafeyq ST

(a) HHHe

(b) faew

(0 TEE

(d) oEEfgeE

(e) SleRiiTeere

(fy FFEARA Co-A
e

(A) (@), (d), (), (d), (e), ()
(B)  (b), (d), (e), (), (a), (c)
(©) () (@), (d), (b), (e), ()
(D) (d), (b), (), (a), (), (¢)

. g s o Y e e 3o 3 -l

H § e ?

(@) HIEAHRE HIERS

(b) oA

(¢ fage

(d) SR Tt

(e) eI

(6 g

e

(A) (@, (@ () (d), (b), ()
(B) (9, (b), (d), (f), (e), (a)
(©)  (e), (a), (o), (d), (b), (£)
D) ®), (d), @&, (&), (©) (a)

SPACE FOR ROUGH WORK / T &1d & fad wig
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49. Size of colloidal particle is : 49. Fefeea Uishel I G Bl ®:

(A) <1mp (A) <1lmp
(B) Between 1 my. to 0.1 p (B) 1mp HO0.1p % =
() >01p (C) >01p
(D) >05p (D) >05p

50. Packaging does not serve the purpose of : 50. UHMET ¥ g HHA-T TTE IO A A R?

(A) Protection of product (A) AR i G
(B) Advertisement of product (B) UK <hl IEEIEE]
(C) Improvement in nutritive value (@) T e H YUR
(D) Displaying product details (D) 3 1 Fererr fe@m
51. Match the following : 51. foret o e oY
(a) Stability of (i)  Electric (a) U i () fagd
Emulsion charge
() Sugar in water (i) Suspension (b) T § FeeRt (ii) A -
(c) Saw dust (i) Emulsifier (c) Fhel T I (i) TACHTHIH
(d) Stability of sol (iv) True (d) W wmeIEE  (v) g HeRH
solution
(e) Gelatin (v) Hydrophilic (e) fSreted ) E'IE@W
colloid HIAES
Code : %< :
@ ) © (@ ( @ () (@ (@ ()
(A) @) @) @ O O A) @ v @ O
(B) (v) @) & () @ ®) @) @ @ @ @
© O @ @ @ ©) © @ @ @ @ ©
D) v (v @) @ O D) @) @ @ O

SPACE FOR ROUGH WORK / T% & &% fa&t e
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52.

(@)

(b)
(©)
(d)

(e)

Match the following :

Syneresis @)
Surfactant (ii)
Hydrophilic (iii)
Crystalloids (iv)
Colloids (v)
Code :

@ (b (9
@) @ 6 ©
B O @ )
© @ @ 6
D) &) @) (i)

Substanice which
lowers surface

tension

True solution
Dispersion

loss of liquid from
gels

Water loving

@
(@)
0
) )
@ 0

Z

Match the Cooking Methods with their

respective containers :

Microwave (@)

Conventional (i)

oven
Stir frying (iii)
Induction (iv)
Code :

@ () (9
(Aa) ) @O @
(B) (v) (@) (i)
©) (@) @@ @)
(D) @) @ @

Aluminium pots

Aluminium woks

Ferromagnetic flat

bottom vessels

Glass pots

@
i
0
0
(¥

52. Tt w1 fiveie oY
(a) Torfe= ()
(b) WHH (i)
(€ wEIftRfas Y
(d) Treeiee (iv)
(e) wElES (v)
E TR
(@ () (9
A v @
B O @
€ (@) @@ @
D) (v) (Gv) ()
53
HIfST
(a) =R (1)
(b) UREREE HET (i)
(c) TWET (1id)
(d) FSFRM (iv)
E TR
(@ (b) (o)
(A) (@) @ @)
(B) (v) @) (il
(€ (@) @@ ()
(D) @) @@ @

TS S Fael T
HH H ©

LA
fewrm
Sl ¥ WA i

Ut & fad e

@ (@
@ G
) )
) )
@

. UM i faftrl o 9% e % w9y e

T HEY 9=
THfafEE FeE

TS q I
Timfes 13

Hid % T
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54.

55.

Assertion (A) :

Cookware used in microwave are often
hotter than the food.

Reason (R) :

This is because the waves travel through
the cookware to the food making it hotter
than the food.

Code :

(A) (A) true (R) false
(B) (A) and (R) both false
(C) (A) and (R) both true

(D) (A) false (R} true

Assertion (A) :

Baking involves heat transfer through
radiation.

Reason (R) :

In baking heat is transferred through hot
air of oven by radiation, meanwhile it is
transferred by conduction as well as
convection too.

Code :

(A) (A) false (R) true
(B) (A) false (R) false
(C) Both (A) and (R) true

(D) (A) true (R) false

54.

558

APIRST (A) -

e W THH U S S
Teref & afess T 2 E

HWOT (R) :

T T B & i o T % e 9
L1 g o e TR € o o SfST
g arfier T 8 SR

e :

(A) (A) ¥ (R) 310
(B) (A) ¥ (R) €l o1&
© (A)d (R) T T

(D) (A) 39 (R) T

AR (A)

FfT H A o5 T iR % g a
1

/RO (R) :

e slae ) T g W A9 H R
farfertor 3 weaw 9 2 ], W & e "

'aﬁm%mﬁﬁmmwﬁmaﬂ%l

C &

(A) (A) 3 (R) ¥4
(B) (A) WA (R) HA
(©) (A) d (R) T &

(D) (A) §F (R) 35

SPACE FOR ROUGH WORK / T % o ferdl <re
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56.

57.

(@)

(b)

(d)

Assertion (A) :

The success of cooking with fat depends
on their right selection.

Reason (R) :

Besides selection of an appropriate fat, its
amount and even its temperature of
cooking are equally critical to success in
cooking.

Code :

(A) (A) true (R) false

(B) Both (A) and (R) false
(C) Both (A) and (R) true
(D) (A) false (R) true

Match the fo]loWing :

T.A.T. (@) Immediately after
birth

Co-operative  (ii) Qualitative

and helpful

behaviour

B.CG. (iii) Projective
Technique

Development  (iv) Prosocial
behaviour

Code :

@ G (@ (@

(A) (@) (@) @ @

(B) @ @@ @ @)

© @@ @ @O @

(D) (v) @) @) @

56.

57.

(@)

(b)

(c)

fuReT (A)

U & HIEAH W U R St Sherdl SR
e ug W i et ®

RUT (R) :

JE1 & SUYF I F ST, AH Ht A
A ek foRel i ArdsR o SaH € eyl
B € a9 37 W off gerar fel &l €1

%

(A) (A) §F (R) S8
(B) T (A) T (R) 3THA
(©) T (A) T (R) T

(D) (A) 3EA (R) ¥
frafafas = faom =L :
AT (@) HFgE R
AT T (i) OO
e FEER
CIRCIASIN (i) & fafy
IEETL (iv) JEMIST TR
e

(@ ) (© (@
(A) @) @v) @ @
® @ @) @ @)
© @@ @ @ )
(D) () (@ @@ @

SPACE FOR ROUGH WORK / 1% &1d & {9 S7g
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58.

59.

(@)

(b)
(©)

(d)

Match the following :

Programme
(a) Family Planning
(b) Pulse Polio
(c) Zero Polio
(d) National Polio

Supervision Programme

Code : |

@ (®) (o
a) @ G (@)
(B @) @ @)
(© (@) @@ @)
(D) Gv) (i) (i)

Match the following :

List-I
Howard (i)

Havinghurst  (ii)
Freud (ii)

Pavlov (iv)

Code :

@ (®) (©
(A) @) @) @)
®) @ 0 @
© @@ @v) ()
D) @ @) ()

Year

@ 1995
(i) 1951
(iif) 2000
(iv) 1997

(d)

(iv)

(iv)

)

)

List-1I

Developmental

tasks

Electro complex

Multiple
Intelligence theory

Stimulus
response theory

(d)
(i)
(iv)
@

(iv)

58.

59.

(b)
(©)

(d)

frfafaa o faem =X

(@) UfER fEsH @) 1995
(b) TeE qfer i) 1951
() dferefead (iii) 2000
d) TEEAfaa  (v) 1997

(A @ @ @ @)
(B) @ O @ )
© @) @ @) @
(D) Gv) @) @) @

frefafaa &1 e ST

-1 g-11

HEKS () - ToremTETeHS
EJe

e () TOTER) I

HIS (i) AR TS
2L

Yaara (v) e fadr
0|

%

@ G © (@
(A) @ @@ ) @
B) @) @ @ @)
© @ (v @ O
(D) @ @@ @@ @)
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60. Match the following :
Stage Age
(a) Infancy (i) 6tol12years
() Childhood (i) O to 6 years
(c) Adolescent stage (iii) 12 to 18
_ years
(d) Peak developmental (iv) 21 years
stage
Code:
@ () (0 (d)
@ 6 @ @
B @ @ v 0
© @ O @
D) ) @) @) 0
61. Match the following :
List-I List-II
(a) Germination (i) Sleeping on

(b) Equilibrium

(c) Sudden infant
death syndrome

(d) Kindergarten

Code :
(a)
@
(v)
@
()

(b)
(i)
(iv)
@

(iv)

(A)
®)
©
(D)

stomach and soft
surface

(i) Balance
(iii) Viral infection

(iv) Piaget
(v) Science experience
(vi) Frobel

() @
(i) ()
@ (v
(vi) (iv)
(i (v)

(b)
(©)

(d)

ST
fervirareen

fawma =t =

6912 99
0969
12 § 18 o9

(iv) 21 99

AT

e

(a)
@
(i)
(i)
(iv)

(4)
(B)
©)
(D)

61.
-1
(a) STFU

(b) TRIferforr
(c) W7 FH=
<9 fagm
(d) frogTméa

e

(a)
()
v)
(i)
(i)

(A)
(B)
©)
(D)

®)
@)
(i)
0

@)

©
(@)
@)
(@)
(@)

(d)
(iv)
@
(iv)
@)

frratafaa = faem =3 :

Hei-II
() AT A w2Hs TS
iR T

(i) HE
(iii) SRS TR

(iv) s
(v) faam srva
(vi) Shreet

©
(@)
0

(v
(@)

(d)
(iv)
(vi)
(iv)
(v)

(b)
(i)
(iv)
@
(tv)
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63.

.. List-I

Match the following :
List-I1

!Activé learning (i) Freud

Heightened

emotionality

(i) Adolescent stage

Oedipus complex (iii) Out doorplay
Visit to post office (iv) First hand

experience

(v) Emotional

disturbance

(vi) Field trip

Code :

@ ® ( (@
(A) @) ) @ @)
® (v @ @ @
© @ W @ (@
D) @ @ @) G

Assertion (A) :

Human nature is essentially good and

education must allow that goodness to

unfold.

Reason (R) :

Education equips human being with the

capability of unfolding the goodness.

Code :

(A) Both (A) and (R) are wrong

(B) Both (A) and (R) are correct

(C) (A) is correct but (R) is not the
correct explanation of (A)

(D) (A) is wrong but (R) is the correct

explanation of (A)

62.

()
(b)

(©)
(d)

63.

frefatea @ fae ifs

el gei-11
iha drET G WIS 5
(Active learning)
S relRED (i) Toreireen ,
BERIREEN I
Tfeqq wiveied (i) 9@ €@
YR STHE YWl (iv) TAE STgHE
(v) EencHe S
(vi) fres few

%< :

(@ () (© ()
(A) @) (v @ @)
(B) @(v) @) @@ (¢
© @ (v @ (i
(D) (i) @ Gv) ()
ARTERYT (A) :
e ETE SAEvEe ® W o791 § iR fen
37 TSRl I SEYA HIA hI TN S B
HIT (R) :
foren weA Y STEOEAl W SqYd H W
et TEH A AT TR S €
%
(A) (A) 3R (R) I Tew €|
(B) (A) &R (R) 3 W& €
(C) (A) 5& 2 T (R), (A) i TE =

T 7!
(D) %A) Terd € R (R), (A) TR

|
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64. Assertion (A) :

65.

66.

Health cannot be achieved where poverty
and misery abound.

Reason (R) :

Poverty and misery causes malnutrition,
infections, poor housing and lack of safe
water.

Code :
(A) Both (A) and (R) are wrong
(B) Both (A) and (R) are correct

(C) (A) is correct but (R) is not the
correct explanation of (A)

(D) (A) is wrong but (R) is the correct
explanation of (A)

Levelling agents which tend to slow
down the dye uptake of the fiber are
termed as :

(A) Retarders
(B) Stiffners
(C) Thickeners
(D) Carriers

The figured muslin traditionally woven
in Bangladesh is considered one of the
finest textiles of the world is :

(A) Jamavar
(B) Baluchari
(©) Paithani
(D) Jamdani

64.

65.

66.

aAfiRem (A) :

et et SiR @ (grif) B € =
T & 2 Rl |

IUT (R) :

TS 3R w1 qRome HUe, WHHO,
e wR e &R i e ©

%

(A) (A) 3R (R) I Terd B |

(B) (A) 3R (R) 3 W& ¥

©) (A) T T THg (R), (A) B W& =@
T’

(D) (%A)W%W(R),(A)aﬁmﬁw
|

et JATHRRE ST FIESR BH TUSH i
+fTHT AT &, 1 AT hel Sl 2

RIS A& S JREfes &9 9 SRy |
A1 § Y fova &1 e SRS HHAl
1§, I FHEAT & ?

(A) SRR
(B) e
(C) st
(D) ST
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67. The mandatory standard for care labelling

for clothing and textiles applies to.
(@) Furnishing

(b) Leathers

(c) Decorative Products

(d) Household Textiles

(e) Clothing

Code :

(A) (), (b), (c) and (e) are correct

(B) (a), (b), (d), (e) are correct

(C) (), (c), (d) and (e) are correct

(D) (a), (b), (c) and (d) are correct

68. Special finish applied to wool is :
(a) Carbonising |
(b) Crabbing
(c) Heat setting
(d) Decating
Code :
(A) (a), (b) and (c) are correct
(B) (a), (c) and (d) are correct
(C) (a), (b) and (d) are correct

(D) (b), (c) and (d) are correct

67.

68.

5 2R FS & fae FeR dafe # feed
A fohd TR ] 8 € 2

(a) R

() Ul IR
(d) TR FAG

() ==

A) (), (), () N () ¥& T
B) (@), ®) @), () T

© (), (), (d) N (e) T &1
(D) (a), (b), (¢) ¥R (d) W& T

I H e fafire frfst fsran 6t St €2

() fexfdn

%<

(A4) (@), (b) 3 (0) T €1
B) (a) () 3 (d) TA T
© (@), (b) 3R () T T
(D) (b), (c) 3 (d) ¥ T
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69.

70.

Marketing utilities, which are the
capacities of the product offering to
satisfy the needs of a customer, are :

(a)
(b)
(©)
(d)
(e)
Code :

Form utility
Exchange utility
Time utility
Possession utility

Energy utility

(A) (a), (b) and (e) are correct.
(B)
©)

(D) (a), (c) and (e) are correct.

(@), (c) and (d) are correct.

(b), (d) and (e) are correct.

In late forties the Textile Industries in
India, produced the following types of
shawls :

(a)
(b)
(©)
(d)
(e)
Code :

Doshala
Sozni
Zalakdozi
Dorukha
Kasaba

(A)
(B)
©)
(D)

(a), (d) and (e) are correct.
(a), (b) and (c) are correct.
(b), (c) and (d) are correct.

(b), (c) and (e) are correct.

69.

70.

mwﬁnmaﬁrwaﬁwﬁaﬁ
g frmsmga g »

(a) R ST
(b) fafm= suEim
(c) 9T SUAfTn
(d) TSR YA
() S SuIfTal
%
(A)
(B)
©
(D)

(a), (b) SR (e) T& B
(a), (c) IR (d) T 1
(b), (d) 3R (e) T T
@), () 3R (e) T 1

e % oifm ol § 9Ra § o W
91 YR & Siict o1 STUTSH hdl o ¢

(a)
(b)
(©)
@
)
< :
(A) (a), (d) 3 (¢) T ¥
(B) (a), (b) 3R (c) W& T
©) (b), () W () TA T
(D) (b), () 3 (e) TA T

ISR

re@l
FHG
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71.

72.

(a)

@)

The traditional craft of Punjab is Phulkari.
Different types of Phulkari are :

(a) Chope

(b) Saloo

(c)
(@
(@)
Code :

(A) (a), (b) and (c) are correct.
B ()

© (@), ()
(D) (b), (d) and (e) are correct.

Sujani
Suber

- Aari

c) and (e) are correct.

and (d) are correct.

Match the stages of family life cycle in the
List-I to the description given in List-II :

List-I List-1I
Beginning (i) Children leaving
family home due to
marriage or
career
Expanding (i) Marriage
family
Contracting (ii)) Birth of child up
family bringing
vocational
adjustment
Code :
@ @ (o
@ @ @
(B) (@) (@) (i)
© (@@ @ @
D) O @) (@

71.

72.

(©)

o 1 IR R e 5| -
A Woh o FeTeRIET © :
(@) <9

(b) I

() Hom

(d) gN

(e) o

(a), (b) 3R (c) T 2|
(b), (c)?Fﬁ'{(e W& g
(a), (b) R (d) & €
D) (b),(d) 3 () T& ¥

Feit-1 § Wit Sfad =% - srereened
11 feu foam € faem #ifsa

gei-11

= o faare q

T & BRI TR

£l

Hell-1
IRfY TfER (i)

foregd B OReR (i) foEm®

o o ST AT -
RIGE R Gl PEa
B DI E

Hepfea gran aRem (i)

e
(a)
(A) (i)
B O
(©) (i)
D) @
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73.

(b)

(c)

(d)

Match the items given in List-I to
description in List-II : ‘

List-I List-II
Work unit @ Changes in
accomplishing

work in a given
time

Work load (i) Work done in
one hour by
average
homemaker in
average

conditions
Work curve (i) Average fix time
for some

household work

Work norms (iv) The sum total of
work unit

Code :

@ () (9 (9
A @ @ @ @)
B) (@v) @) @ @
© @ @) @& ()
(D) @) @ (@v) ()

73.

(a)

(b)

(©)

(d)

ei-1 7 < ¢ 73 it foret Eit-11 o feorer
[ HIY :

et gEt-11

EIRREED @) freifawm@ds
faomes # aftads

FR R a) sftwa et @
sitgq ufefearfa
TH He H fhU 5
A

%14 Wk i) =R FwE kR
frff ol fAfe

% AR (iv) el S H S

@ ) () (d)
(A @ @@ @ @)
(B) (v) @) @ @
© @ @) @ )
(D) @@ @ G@v) (i)
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4. Match the following steps of

communication process in List-I with

description in List-II :

List-1

1) Sender
5) Message
z)  Symbol

d) Channel

)  Receiver

Code :

©) (@)

D) )

List-I1

Subject matter of

communication

Transmission through

some media

Who conveys the

message

Translation of message

" in words or in

some other forms

Listener, reader or
viewer

© (d (e

() @ ()

O (v @

(iii) (@) (V)

@) @ @

74.

T skl & =R Rl A & T G-I Y

T faerer gei-11 9 fre =ifse

e T

Hew GSM TR (i) S Wi fawe-

(T=0) aYq

Hew (i) et areaw gra
BRI

e (W) (i) S EUII @R
(e <A 1)

=T (iv) S IR T
B H TR

EIEEn] (v) i, IS 41 SR

(A @ @ @@ @
B @ @ O ©
© @ @O @ @

(D) (v @) @) @ @
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75.

76.

Assertion (A) :

Complexity of life brings in psychological
fatigue.

Reason (R) :

Failure in achieving goals due to poor

* planning and disliked work.

Code :

(A) Both (A) and (R) incorrect.

(B) (A) is correct but (R) is incorrect.
(C) (A) is incorrect but (R) is correct.

(D) Both (A) and (R) are correct.

Assertion (A) :

-.In 1986 the Government passed the
+ Consumer Protection Act.

Reason (R) :

Consumers often feel exploited in the

""" market in case of quality, quantity and

cost.

Code :

(A) Both (A) and (R) incorrect.

(B) Both (A) and (R) are correct.

(C) (A) is correct but (R) is incorrect.

(D) (A) is incorrect but (R) is correct.

75.

76.

AR (A)

S =) e § T T g
Tl

HIIT (R) :

FHHSIR fEeE § @l # Wi J s/
iR s wr |

e :

(A) (A) 3R (R) S e € |

(B) (A) W& ¥ g (R) T 1

(©) (A) o & FF (R) Wl &

(D) (A) iR (R) 3 W&l B 1

APUFHAT (A) :

1986 T TRHN A TYHERI WEW FFH A
feran

/AT (R) :

SHIHd, T[0T SR T % TE H UK IT
wifta for o sTgE T )

Fe :

(A) (A) 3R (R) I e 2 |

(B) (A) 3R (R) 3 W&l T

(C) (A) TR & fohg (R) TTo B
(D) (A) 7o € FRg (R) W11 B
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7. Assertion (A) :

Communication is important because it
hélps to improve decision making,
harmony, participation and public
relations.

Reason (R) :

Communication is exchange of facts,
opinions or ideas between two or more
persons.

Code :

(A) (A) is correct (R) is incorrect.
(B) (A) is incorrect (R) is correct.
(C) (A) and (R) both correct.

(D) Both (A) and (R) incorrect.

Assertion (A) :

Planning is deciding in advance what is
to be done. It involves the selection of
objectives, procedures and alternatives.

Reason (R) :

Planning is a mental exercise that requires

imagination, farsight and sound

judgement.

Code :

(A) Both (A) and (R) are correct.
(B) (A) is cotrect (R} is incorrect.
(C) Both (A) and (R) are incorrect.

(D) (A) is incorrect (R) is correct.

77.

78.

RrEeT (A) !

e meequl § ife 3 foig gk,
qrsre, giaenfimar ofiR smuuh g |
WEFR

/T (R) :

a1 o1 siferes St & Weg qedl, el W
foramll &1 STEF-9e FHI90 €

%<

(A) (A) &, (R) 7o § 1
(B) (A) 7eW T, (R) W& 2
©) (a) 3R (R) 3 w2 T
(D) (A) 3R (R) I e B

ARIHAT (A) :

AR, wias § 9 ot e =6 g e
R o sfata ey, il oiR fawedl =1
TS HE B8 |

ShIT (R) :

smensE ot wrafes gfean @ faad
SHeqATieTal, SRRt aen wel o foham st
?l .

%<

(A) (A) 3R R) 3 w2 2

(B) (A) W& ¥, (R) T ©1

(© (A) 3R (R) 3 e 2

(D) (A) 7T §, (R) Tt R
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79.

80.

Assertion (A) :

A good control system should suggest
corrective action.

Reason (R)

Control is continuous dynanuc forward
lookmg and action based measuring
performance and settmg standards.

Code : |

(A) (A) is correct (R) is incorrect.
(B) (A) and (R) both are correct.
(C) (A) is incorrect (R) is correct.

(D) (A)and (R).both are incorrect.

Human Resources of an Educational
Institution comprises of :

(@) Teaching and non-teaching staff
(b) Students and researchers

(c) Parents and members  of

community

(d) Departmental officials and

governing body
Code :
(A) only (a)
(B) (a) and (b)
© () (b)and ©
(D) (@) (b), (¢) and (d)

79.

80.

ARFHIT (A) :

T Gt o @ U H1La g
et =nfgu

IUT (R) :

foretron, R Tfeiia, ww:c.‘ qfam af
FTias e S & S Foreee T # &
HH® 99 L B

G

(A) (A) & %, (R) T §1
(B) (A) WM (R) Sl &t €1
(C) (A) e T (R) W& 2
(D) (A) T (R) 3 e ¥ |

ferlt freror Geo ¥ S TETEH 1 €

(@) erforr wa e-Haafors FHHER
(b) foremeff wal iremedf
() Uk T 9SE % WS

(d) Tauria sifumd T e e

<

(A) ¥ (a)

(B) (a) W (b)

©) (@), (b) T ()
(D) (), (b), (©) 7 (@)
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81.

82.

Quality of education in a Formal
education system can be measured
through : .

(@) Infrastructural facilities
(b) Students’ achievements

(c).. Availability of teachers, principal
~ and other manpower

(d) All of the above

Code :

(&) (@) and ©

(B) (a)and (c)

(C) only (b)
(D) only (d)

The essence of management is :
(a) Goal setting
(b) Decision making

(c) Mobilisation of Resources

(d) Setting standards

Code :

(A) (a)and (b)
(B) (a) and (d)
(©) only (b)
(D) only (c)

81.

82.

el ot sl fnaron soveft ¥ feren
ToTEr 1 WG TR S e & 2

(a) STHEET 9

b) o F R

(c) forer, srerd e mww =
TS|

@) SwE af

(A) (b) 7 (Q)
(B) (a) 7 ()
© ¥ @)
(D) = (d)

oy ALY :

(a) <& FraRo
(b) ool e

(c) —wETeEl h e
(d) TR
HT:

(A) (a) 791 (b)

(B) (a) ¥ (d)

© w0
(D) %94 (o)
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83.

84.

A good communicator needs to be good  83.

at:

(A) listening

(B) use of humour in speech
(C) use of appropriate languagg

(D) all of the above

Public relations is defined as the art or 84.

science of :

(A) Expressing ones political opihions to
the public

(B) Attempting to get various sectors of
the public to have a better
relationship with each other

(C) Establishing and promoting a
favourable relationship with the
public

(D) Making celebrities’s relationship
public

TF TS TEHF I TSI B 4mfed

(A)

(B)

©)

(D)

&

e | SEd % WA H

S ron % g H

I aoft

SO W Fell TE fagF % & H 9
ﬁﬁ'ﬂT'\ﬂTﬁT%ﬁ‘l:

(A)

®)

©)

(D)

=faa % qerfas SARTHa i Sl
TR |

ST % fafus &5 % oi" TR °
H1 T FEAT

I W STES Hadl Bl
AT TS S TGl <A1

wiag el & et ol Qrosiieh €
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35.

Assertion (A) :

“Developmental communication” means
the use of communication in future for

Development.
Reason (R) :

This is a developed technique of giving

information based on extensive

networking and modern techniques of

communication.

Code :

(A) (A) is wrong but (R) is correct.
(B) Both (A) and (R) are wrong.
(C) Both (A) and (R) are correct.
(D) (A) is correct but (R) is wrong.

Arrange the following in sequence in
order of establishment :

(@) Integrated child development
scheme - ICDS

(b) Central Social Welfare Board -
CSWB

(c) Convention on the Rights of child -
CRC

(d) National Council of Education,
Research and training - NCERT

Code :

(A) @, (®), () ()
(B) (b), (d), (a), (9)
© @ () (®), @
(D) (), (), (b), (d)

85.

86.

iR (A) :

“ fereprarite W' W o7 B €, wﬁ:lwﬁ
fawma & o T=R &1 ST

WHET (R) :
TE T AN <7 H faenad e § S o
fagga Seafdn 3 sy wer fafydl w
amenfia ¥

%<

(A) (A) 7T WG (R) T 2
(B) (A) 9 (R) I ot B |

(C) (A)F(R) I @& T

(D) (A) ¥& W (R) T4 B

7757 A1 MO & STTER W %9 ¥ T
(a) WA & o AT - ICDS

Lat

(b) HEF FAS FHeA §1E - CSWB

(c) ¥ RN T FHEAT - CRC

(d) T dftes STTHYH e giier g

- NCERT

(A) @, ®), () (d)
(B) (®), (d), (a) (¢)
© (@), () () ()
(D) (@) (), (), (@)
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87.

(d)

(e)

“Controlled Group” is a term used in :
(a) Experimental Research

(b) Descriptive Research

(c) Historical Research

(d) Survey Research

Code :

(A) Both (a) and (b)

(B) Both (b) and (c)

(C) Only (d)

(D) Only (a)

Match the following :

Charts (i)  Effective for skill
development
Demonstration (i) Visual aid

Field trip (iii) Face to face
contact

Workshop (iv) Visit outside the
class

Classroom (v) Giving first hand

teaching experience

Code :

@ ® © @ (-
(A) @ ) ) @ )
(B @ @ G (v
© @ @ @) & @
(D) @) (v @ @ )

87.

88.

(@)

(b)
(©)

(d)

i T’ WIs 1 TN feRe ST @
(@) AN W

(b) foeRomeTs MY

() Ufeifess Wy

(d) FE WY

e .

(A) (a) T (b) T

(B) (b) el (c) A

© W (d)

(D) % (a)

e 1 gAfem i -

E1C @) e fowe 8
Tl

LR (i) T wEE

e (i) STFA-STHA I
oI

EIRNIK (iv) e &% ST AH

we (v) T IV W

AT A

e

@ ) © (@ (
(A) @ v @ )
B @ @ @ (v (@)
© @ @ @ v @
O) @) v O @@ @)
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9.

If two or even more methods are mixed 89.

up for teaching, that method will be
known as :

(A) Mixed teaching method
(B) Eclectic teaching method
(C) Dialectic teaching method
(

D) Combined teaching method

Effectiveness of curriculum is determined 90.

by :

(A) Objectives
(B) Design
(C) Method

(D) Evaluation

Types of evaluation : 91.

(@) Relative evaluation

(b) Absolute evaluation

(c) Relative and Absolute evaluation
(d) None of the above

Code :

(a) ®

(B) (©

© @

D) ()

Ife & o1 WY eI fafedl S ereamd =g
Tafsra = e s €, o 9% fafy e

(A) fafya steama fafy
(B) 3R 3reAra fafy
(C) ggrhs et fafy
(D) wgF e fafy

IRy &1 gHEsiierar Fuifa i ot ©

(A) Sewdl 9
(B) WEUH
© fafad
(D) TeiH q

oAl F T

() TS EAHA

) FRUs gedie

(c) & Td TITae qedish
(d) SWeHq FE &
%<

(A) (b)

(B) (o)

© @

(D) (a)

?
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92.

93.

Systems approach results in synergic 92.

effect which means :

(@) 2+2= more than 4
() 2+2= less than 4
() 2+2=14

(d) None of the above
Code :

(A) (b) is correct

(B) (c) is correct

(©) (a) is correct

(D) (d) is correct

Which of the following statements are 93.

correct ?

(a) A systemis a set of interrelated and
interdependent parts.

(b) These parts are known as
subsystems.

(c) Changes in one subsystem lead to
changes in others.

(d) The subsystems are the parts that
make up a whole.

Code :

(A) (a) and (c) are correct.

(B) (b) and (d) are correct.

(C) (a), (b), (c) and (d) are correct.
(D) (a), (), (d) are correct.

yurelt S1fire wt aforfa Aefsharcaes T
T Bt §, s7ia

(@) 2+2=4 ¥ fH
(b) 2+2=4 9 HA
€ 2+2=4

(d) SR H HE T
e

(A) (b)FEE

(B) (o) €

(C) (a) TR

(D) (d) F& T

frefofos P A A FR AT E?

(a) mﬁﬁ@a’a{wﬁmwﬁﬁwm
1 gg=d €
(b) A W ST-FUNEH FeAw €|

(c) W Su-yomeh H B el URed o
Sy-yonferl # off ufedsem B ©

(d) Su-gonferat W E S w gl
gl

(A) (a) 3R (o) W& 2
(B) (b) 3R (d) W ¥
© (@), (), (c) I () T T
D) (@), (), (&) T &
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94 Elements or Components of system :

(a)
(b)
¢) Output
(@
Code :

(@), (b) and (0
(@), (b) and (d)
(@), (c) and (d)
(@), (B), (9) and (d)

Input

Through put

—_

Feed-back

(A)
(B)
©
(D)
95. Assertion (A) :

Language is a strong medium through
which child is familiar with ancestor’s
thoughts, ideals and faith.

Reason (R) :

Ancestor’s thoughts, ideals also play
important role in the socialization of

‘human being.
Code :

(A) (A) and (R) both are correct and

(R) is the correct explanation of (A)

(A) and (R) both are correct, but (R)
is not correct explanation of (A)

(B)

(A) is correct, but (R) is wrong

©

(D) (A) is wrong, but (R) is correct

94.

95.

YUTelt o e a1 IS :
(a) fraw

(b) frar=Em

(c) Scafe/3eg

(@) gAFE

e

(A) (a) () 3R ()

(B) (@), (b) 3R (d)

© (@), (© ¥R (@)

D) (@), (), (© ¥R @

feRe (A) :

IS Tk ool W1eH § S gRI aereh oo
a6 foram, steell wo favarel @ uftfea
ey

hIUT (R) :

et & foar, sTest ot safeq & Wi
H Tewqul et fem €

%<

(A) (A) 3R (R) 3 ¥t € W (R), (A) A

e = ®

(A) 3R (R) S =& ¥ g (R), (A)
T G A TE T

(A) T &, fFg (R) TTora 1
(A) T §, T (R) W R

(B)

©)
(D)
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96.

97.

Assertion (A) :

Autism is a disorder of Neural
development, which is characterised by

impaired social interaction or

communication.

Reason (R) :

Autism involves many parts of brain.
Code :

(A) Both (A) and {R) are correct and (R)
is the correct explanation of (A)

(B) (A) is correct but (R) is not the
correct explanation of (A)

(C) (A) is correct, but (Rj is wrong
(D) (A) is wrong, but (R) is correct

Arrange the following programmes of
Adult Education in chronological order

of their inception :

(a) National Adult
Programme (NAEP)

Education

(b) National Literacy Mission (NLM)
{(c) Total Literacy Campaign (TLC)
(d) Continuing Education

Code :

(A) () (@, (© and @)

® (d), (©), () and (@)

(©) (o), (b), () and (d)

(D) (@), (), () and (d)

96.

97.

AR (A)

el SgEs w1 sy © S afaus
e ofa:fma @ v sl AT R R |

SHWOT (R) :
T T % % 9T 9 Heifid fa
e

(A) (A) 3R (R) S W& & T (R), ()
F GE =S B

(B) (A) T E, T (R), (A) i & =men
TR

© (A) " T, &g (R) 7T &
(D) (A) T &, fFg (R) W& &1

freferfea g fien & wEwAl B STh
YOI & FHHTAR HAS BT

(@) ia g fren FEFH (NAEP)

(b) T W fawr (NLM)
() Ui wewa At (TLC)
(d) e faen

C TR

&) (), @), (© 3 @

B (@, (), () 3 @)

© (0, (), (a) 3R (d)
D) (@), ®), (©) 3 (d)
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98. function is an important  98. FE®A MU=EIiid T

aspect of Communication and is SR Heensti g WINY % Hew ol
undertaken in formal as well as informal gag T foaan s Tl
organizations.
(A) Integrative (A) THIFHd
(B) Instructive (B) frdwrcHen ;
(©) Influencive (©) THIETHS
(D) Informatic (D) ETHER
99. Azo dyes are used for : 99. 3l SRy 11 & ford wanT whi it g
(A) Synthetic and Cellulose (A) ¥ T Yogar| g
(B) Cellulose and Jute (B) RS R R A CAGES|
(C) Cellulose and Wool (C) VegE™ T 3 g
(D) Silk and Cellulose (D) WM s qEd 7
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100. Basic/Preparatory finishes are : 100. et/ s wftesm 7 €

(A) Fireproofing and Napping () fierERed T /A8 S

(B) Anti Pilling and Fireproofing (B) 3¥ fafen @@ e

(C) Bleaching and Scouring (C) ehfeT T ST

(D) Bleaching and Napping (D) it T AT/ aF S
-000- -000-
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3T iR X HTEHT : 26 Stferemaw 3 : 200
Maximum Marks : 200

Time for marking answers : 2 Hours

e ;
{1, 76 eA-gREeE § 100 W § - TIF W 2 3 I T oft oA T S SifeTd R |
0w ¥ I € T OMR IW-E (STER-Me) W Aferd HfTT

ST TR TE (Rl S|

-

4. Wﬁmﬁmmw'mwwmwwﬂaﬁa%l

5 OMR SWR-3E (SER-3e) ®1 78 F T ol 1 STEEYFT 7 HY/ o o 98 B SE A
wﬁﬁgmf&ww&@aﬁmﬁwagwﬁmn

Note

1. This Question Booklet contains 100 questions. Each question carries 2 marks. Answer all

questions.
2. Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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